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Ejercicios de inecuaciones.

F2(x+1)-3(x-2)<x+6

3x+1_2—4x>—5x—4+?x

7 = 14 &
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8 16 4 al 8

Sl e

.2_[_2.(}{”)_,:(_3]&2_5);*—3
2 3 12
x2—6x+8>0

X2 H2Xx+1>0

X2 HxH1>0

L7x%2+21x — 28 <0

—x%2+4x—-7<0

Adx?-16 20

42 —4x+1<0

X +12x% -B4xF >0

x*—25x% + 144 <0

x*—16x2-225>0
Zx+3 21

{—X +2 -1
2x+3 1

{—x +2 ¢ -1

Soluciones

2(x+1)-3(x-2)«x+6

P+ -3x+B <X +0
A —3w —w -2 -B4+6B
2wl =2 x 1

o=

2 +3 <1
XK +6B L3

(x +1) -

18.

10+ x = 6(2x + 1)
(x-10) < -6(2 - x) - 6x
2x o+ L3

+y 2zl

19.

20.

;
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Xx+y =0
2x -y =0
X =0
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23x+1 2-dx  -bx -4 Vx
. - 5 N

=

3 14 &)
m.cm. (7, 3, 14, 6)=42
6(3x+1)-14(2-4x)23(-5x - 4]+ 49x
18x + 6-28+56x = —15x - 12+ 49x
18x +56x +15x —49x 2 -12 -6+ 28

40x =10 dx =1 X

%
£ =

fu|
L ]
Y
—
|
a
—

m.cm.(8, 16, 41=16

12% +12=32% +18 > 36x =+7 - 18x £47

12+18 > 36% -18x%

5 5
18x <30 dx {5 g —mag
3
—}{_2 +1 4%
3
E[}c:—1+ }{_2] 1 4%
3 3
E}{—2+2}{_4+13 W
3 3 Q
B -6 +2Z28 -4 +9 £ 9y
-% <1 W -1
@ -—
-1 —l,m)
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5-2—[—2-(x+1)—x—_3 (22X T35y

Z 3 12

o [co XT3 22X 23
2 = 12
PR S I, Gl Sl SN
= 12

24+ 24x + 24+ 6 (x - 3) < 8x - (Sx - 3) + 36x

24+ 245 + 24+ 6x - 128 £8x —-5x + 3+ 36x
2dx +6x —Bx +E5x -CEx £3-24-24+ 18
-9y = =-27 Qw = 27 o3

6.x2—6x+8>0

x2—6x+8=0

x=§=4
X=Eim=fiim=612=/l 2
2 2 2 4
\x2=§=2
P(0)=0>-6-0+8>0
P(3)=32-6-3+8=17-18<0
P(5)=5%>-6-5+8=33-30>0
B 2 4 B S = (-0, 2) M (4, o0)
7.x2+2x+1>0
X2 +2x+1=0
oo T2E¥2°-4 -2+0_
2 2 S=IR- {1}

8.x2+x+1>0

X2 +x+1=0

o -lx1-4 -1+3
2

2
P(0)=0+0+1>0

El signo obtenido coincide con el de la desigualdad, la solucion es [ .
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9.7x2+21x—28<0
x24+3x —4<0

x2+3x—4=0

x,=1
L _3t\0+16 _-3x5_ 77
- 5 ==
Sy X =4
P(=6) = (—6)* +3 - (-6)— 4> 0
P(0)=0%+3-0-4<0
P(3)=32+3-3-4>0
+ - +
-4 1 (-4, 1)
10. —x% +4x - 7<0
X2 —4x+7=0
x_4i«#'16—28_4i¢—12ER
2 2
P(0)=-0%2+4-0-7<0 s=MR
11.4}{2—1620
/xlzz
ax* =16 X? =4 x=+J4
N X, =2
—_— —
A6 4

P(-3)=4-(-3)>-16>0
P(0)=4-0%2-16<0

P(3)=4-3%2-16>0
+ -

.
12.4x%2 —4x +1<0
4> —4x+1=0

. _4:416-16

8

4 1
8 2

(-0, —2] U [2, +o0)

|
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13. w0 w12y - 54xt 0
xz(xz +12x —54} 0

%2 +12x —6d =0

X, =4

N X, =16

x_-12¢¢UM+256_-¢2120_ Vs
-16 4

P(—17)=(-17)>+12- 17— 64>0
P0)=02+12-0-64<0
P(5)=5%2+12-5-64>0

+ - +

14. x* = 25x2 + 144 < 0
xt—25x2+144=0

xZ =t

t2 - 25t +144 =0

t, =16
,_25+/625-576 _25+7 _ "
- = ==
NG =9
/'x1=4
x* =16 X = +./16
Sy X = -4
X, =3
x*=9 x:i\@/
Sy X, = -3
+ - = - +
4 -3 3 4

(-0, ~16] U [4, 0)

-4,-3)J 3,3 U3, 4.
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15. x4 — 16x2 —225>0

x*—16x2-225=0

wE =t

t? - 166 -225=10

t. =25
,_16+256+900 1634 "
= 5 = 5 =
~E=-9
/x1=5
x° =25 X = +.J25
S, X, =-D
w® = -0 =+./-0z R
+ - +
- (-OO, _5] U [5, +OO)
16. Px+3x]
R |
2y +o321 2w r1-3 2o =2 =-1
-x+22-1 -x=-1-2 —-x = =3 ¥ 23
i -
-TT
i | '3
1! 3 -1, 3]
17. Px+Ex1
-+ 2 < -1
2x +321 2x 2 -2 xoe-1
-x +2 -1 -x <=3 X w3
.
_1T -
l £ i
l 4 N
5 3 (3, )
18. dx+3<1
-% +H0 {3
2+l 2x+o0 21 oo =1
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X +6a3 -x <=3 X =3
3 i No tiene solucion.

19.{(x+1) 10+ x £ 6(2x + 1)
4(x-10) <-6(2 - x) - 6x

1* inecuacion:
x+1)-10+x<6(2x+1)
10x+10+x<12x+6
1I0x+x-12x<6-10
—x<—4 X>4
2% inecuacion:
4{x-10) < -6(2-x)-6x
dw —40 < -12 +6x - Ox
dw —bx +Ox {12+ 40
4x < 28 X <7

B

bk
AP Iel T

[, REI, T -

[4,7)

{2x+y <3
20. L% + v 21

2x ty=3
x=0;, 2-0+y=3; y=3; 0, 3)
x=1;, 2-1+y=3;, y=1, (1, 1)
4
N 0
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2x +y<3

2:-0+0<3 0<3 Si

xt+ty=1
x=0; 0, 1)
x=1 (1,0)
0
4 -2 0
-2
-4
x+ty>1
0+0>1 No
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x+y=0  (0,0) (1,-1)

2x-y=0 (0,0) (1,2)
2:2-2>0
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X+y¥ =20
2x -y =0

=
23, X506

x+ty=0 0,0) (1,-1)

2+2>0

2x—y=0 (0,0) (1,2)

2:2-2>0

-]

6

4

2.
2 0. 2 4 & 8 1
/2
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